.     Substitution Practice    .
If A =4   and   B = 3 

1)  A + 5 =

2)  3A=


3)  2A + 5 =


4)  A2=

5)  20 ÷  A =

6)  2A + 3 = 

7)  A2 + A = 


8)  14 – 3A = 

9)  A + B =

10)  3A – 2B =
11)  B – A =


12)  3(A + B) =

.     Substitution Word Problems    .

Use formula and substitution applied to word (application) problems

Fish and Chips order 




F = Number of pieces of Fish

C = Number of scoops of Chips

Rule for cost

$ = 2F + 1.5C


$ = Cost of order

1)
How much does one piece of fish cost?

2)
How much does one scoop of chips cost?

3)
How much does 3 fish and 2 scoops of chips cost?

4)
4 fish and 3 scoops?

5)
If I had spent $9.00 what did I buy?

6)
If I spent $11.50 what would I buy?

.     Substitution Practice    .

Substitution is where a number is put in place of the variable (letter)

Several variables can be substituted… 
If a =4   b = 3   and   c = -2
1) 4a =   


2) b2 = 


3) a + b =


4) 3(a + c) =

5) 2a + 3 =   

6) a2 + 4a = 

7) 3a – 2b =

8) 3(5a + b2) =

9) 
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Remember to show working.

Watch negatives and order of operations
NO calculator so brush up on number skills.
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